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4-1 Triangle Similarity with Dilations

4-1 Triangle Similarity with Dilations

1 .Similar Triangles:
orresponding ANGLES are congruent
+ Corresponding SIDES are ro ortional

* Have the same shape, but not the same size
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/- 1. Using the grid, calculate the lengths of the following segments:

AB, Bfi aDCDz:)EFLI;G GHQHtE_/ \’l Gl}‘ I’Z
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2. Express the ratios E £G ﬁand _A as decimals. What

AB’ BC'CD

u notice abuul the ratios?
- I 'fq‘— ")/ Ib ﬂ = %
v : |,| 3

3. Using a ruler, draw the lines that connect: 0, A, and £
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0,C,andG  0O,B,and F 0,DandH

If we imagine our flashlight at point O, these segments represent the path of the light coming from the

flashlight. What do these lines connect in the rectangles?

4. Measure the corresponding angles in the rectangles. What can you conclude?

2. Dilation:

« a transformation that enlarges or reduces a

pre-image to create a similar image
—_— NN B

Center of Dilation

A dilation requires a cWand a scale factor. The
letter(r Jusually represents the scale factor.

In the above figure - Triangle A'B'C' is a dilation of triangle

ABC




3.Scale Factor: %
* Is the ratio:

- the distance from the cent ilati 0 a point on the

image: to the distance from the center of dilation to the

When |r| is greater than 1, the dilation is an enlargement.
When |r| is between 0 and 1, the dilation is a reduction.
I{Z>0)P" lies on CP, and CP' = r(CP)

If r<0, P' lies on CP' (the ray opposite CP) and |r|(CP)

- T+~

4. Dilations
and(gqllinearit
dilation is a si

November 04, 2013

Vocabulary
tmege: T D\ AL ON
Preimage: 15 6 W Pialedvel\ \
Dilation: )r() oet b\‘ﬁﬂ{"//gmil 'e:
: hat e
Center of Dilaﬁon:P( ‘)O{DK}{V\\\RLQ 7o)
Scale Factor: \’h)‘/\j g\\) th %/OU di LS

similar: C lose ot Aot The Samy

ex) Find the measure of the dilation image A'B' or the
preimage AB using the given scale factor.

a)AB=12,r=2 b)A'B‘:36,

A‘pl :ZL' ':’b\ﬂ <

5. Constructing dilations.

ex) Draw the dilation image of triangle JKL with center C and r =
-1/2

; ¢

Steps:

1) Draw CJ, CK, and CL. Si ris negative, J', K', and L' will
lie on CJ', CK' and CL' respectively.

2) Locate J', K', and L' so that CJ' = (1/2)(C.L-EK=(1/2)(CK),
and CL' = (1/2)(CL).

3) Draw triangle J'K'L'




5. Triangle J'K'L' is a dilation of Triangle JKL. The center of the dilation is the origin.

y

a. List the coordinates of the vertices of Triangle JKL and
Trigngled'KiL—Hay do the coordinatesm%
oodinates of the pre-image?

Li(b,9)
J (52) 2—
KL (1 2)

c. How do you think youcan use the scale factor to

x
4 6 8 10 12 14 16 determine the coordinates of the vertices of an image?

*The point (x,y) dilated can be described as (kx,ky) when the center of dilation is at the origin.
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